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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain the role and organization of „Finance 

Functions‟ in a business concern. 

,d O;kolkf;d laLFkku esa ^foŸk dk;ks±* dh Hkwfedk rFkk 

laxBu dh O;k[;k dhft,A 

2. Critically examine the Net Income and Net Operating 

Income approaches to capital structure. 

iw¡th lajpuk ds ‘kq) vk; n`f”Vdks.k rFkk ifjpkyu vk; 

n`f”Vdks.k dk leh{kkRed ijh{k.k dhft,A 

3. The X Company is attempting to establish a current 

assets policy. Fixed assets are ` 8 lakhs and the firm 

plans to maintain a 50% debt-to-assets ratio. The 

interest rate is 10% on all debts. Three alternative 

current asset policies are under consideration–40%, 

50% and 60% of projected sales. The company expects 

to earn 15% before interest and taxes on sales of ` 40 

lakhs. X‟s effective tax rate is 30%. What is the 

expected return on equity under each alternative ? 

,Dl dEiuh pkyw@py lEifŸk uhfr dks LFkkfir djus dk 

iz;kl dj jgh gSA vpy lEifŸk;k¡ ` 8 yk[k dh gSa rFkk 

QeZ 50% _.k ds fy, lEifŸk vuqikr cuk, j[kus ds fy, 

fu;kstu dj jgh gSA lHkh _.kksa ij C;kt nj 10% gSA rhu 

oSdfYid pkyw@py ifjlEifŸk uhfr;k¡ fopkjk/khu gSa tks fd 

vuqekfur foØ; dk 40%] 50% vkSj 60% gSA dEiuh ` 40 
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yk[k ds foØ; ij C;kt rFkk djksa ls igys 15% vftZr 

djus dh vis{kk djrh gSA ,Dl dh izHkkoh dj nh nj 30% 

gSA izR;sd fodYi ds vUrxZr visf{kr lerk ¼bfDoVh½ ij 

izR;k; D;k gksxk \ 

4. Enumerate the various methods for evaluation of 

capital expenditure projects. 

iw¡thxr O;; ifj;kstukvksa ds ewY;kadu ds fy, fofHkUu 

rjhdksa dh ppkZ dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

Briefly discuss any four (04) of the following : 

fuEufyf[kr esa ls fdUgha pkj ¼04½ ij la{ksi esa ppkZ dhft, % 

1. Cost of liquidity and Cost of illiquidity. 

rjyrk dh ykxr rFkk v&rjyrk dh ykxrA 

2. Inflation and Financial Management. 

eqnzkLQhfr rFkk foŸkh; izcU/kuA 

3. Determinants of Dividend Policy. 

ykHkka’k uhfr ds fu/kkZjdA 
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4. The following details of X Ltd. for the year ended  

31-3-2017 are furnished : 

Operating Leverage 3 : 1 

Financial Leverage 2 : 1 

Interest charges per annum ` 20 Lakhs 

Corporate tax rate 50% 

Variable cost as percentage of sales 60% 

Prepare the income statement of the company. 

31&3&2017 dks lekIr o”kZ ds fy, ,Dl fyfeVsM dk fooj.k 

fuEufyf[kr gS % 

ifjpkyu mŸkksyd 3 : 1 

foŸkh; mŸkksyd 2 : 1 

izfr o”kZ C;kt ‘kqYd ` 20 yk[k 

fuxfer dj dh nj 50% 

foØ; ds izfr’kr ds :i esa ifjorZuh; 

ykxr 60% 

dEiuh dk vk; fooj.k rS;kj dhft,A 

5. ABC Ltd. estimates the cost of equity and debt 

components of its capital for different levels of debt-

equity mix as follows : 

Debt as % of 

Total Capital 

Cost of Equity 

% 

Cost of Debt % 

(before Tax) 

0 16 12 

20 16 12 

40 20 16 

60 24 20 
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Suggest the best debt : equity mix for the company. 

Tax rate applicable to the company is 30%. Show 

workings in your answer. 

,chlh fyfeVsM viuh iw¡th esa _.k&lerk ¼bfDoVh½ feJ.k 

ds fofHkUu Lrjksa ds fy, lerk ¼bfDoVh½ rFkk _.k dh 

ykxr dk vuqeku yxkrh gS tks fd fuEukuqlkj gS % 

dqy iw¡th ds 

izfr’kr ds :i esa 

_.k 

lerk dh ykxr 

izfr’kr esa 

_.k dh ykxr 

izfr’kr esa 

0 16 12 

20 16 12 

40 20 16 

60 24 20 

dEiuh ds fy, mŸke _.k&lerk ¼bfDoVh½ feJ.k dk lq>ko 

nhft,A dEiuh ds fy, ykxw dj dh nj 30% gSA vius 

mŸkj esa jQ dk;Z dks Hkh n’kkZ,A 

6. Importance of adequate working capital. 

leqfpr@;ksX; dk;Z’khy iw¡th dk egRoA 

7. Importance of Economic Order Quantity. 

vkfFkZd@ferO;;h vkns’k ek=k dk egRoA 

8. Features of Financial Management in a public sector 

enterprise. 

,d lkoZtfud {ks= ds m|e esa foŸkh; izcU/ku dh 

fo’ks”krk,¡A 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. Baumol‟s model of Cash Management assumes a 

constant rate of use of cash. 

jksdM+ izcU/k dk ckSeksYl ekWMy ;g ekurk gS fd jksdM+ ds 

mi;ksx dh ,d fLFkj nj gksrh gSA 

2. Risk in capital budgeting implies that the decision-

maker knows certainty of the cash flows. 

iw¡th ctVu esa tksf[ke ls vfHkizk; gS fd fu.kZ;drkZ dks 

jksdM+ izokgksa dh fuf’prrk dk Kku gksrk gSA 

3. Agency costs are those implicit costs which evolve out 

of mismanagement of a firm. 

,tsUlh dh ykxr og fufgr ykxrsa gSa tks ,d QeZ ds 

dqizcU/ku ls mRiUu gksrh gSA 

4. Capital budgeting decisions are reversible decisions. 

iw¡thxr ctVu fu.kZ; izfrorhZ fu.kZ; gksrs gSa \ 
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Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, % 

5. The ............ of a company consists of time period 

between the procurement of inventory and the 

collection of cash from receivables. 

fdlh dEiuh ds 
----------------------------

 esa LdU/k ds Ø; rFkk izkfIr;ksa 

ls jksdM+ ds lap;u ds e/; le; vof/k lfEefyr gksrh gSA 

6. Finance which naturally arises in the course of 

business is called as .............. . 

foŸk tks LokHkkfod :i ls O;olk; ds nkSjku mRiUu gksrk gS 

mls 
----------------------------

 dgk tkrk gSA 

7. Return on Capital employed is also known as ........... . 

fofu;ksftr iw¡th ij izR;k; 
----------------------------

 ds :i esa Hkh tkuk 

tkrk gSA 

8. When an equity capital of a company exceeds its debt 

capital, then such situation is called as .............. . 

tc fdlh dEiuh dh va’k iw¡th] _.k iw¡th dh vis{kk T;knk 

gksrh gS rks ml fLFkfr dks 
----------------------------

 dgk tkrk gSA 

Indicate the correct answer-option : 

mŸkj ds fy, lgh fodYi dk pquko dhft, % 

9. The efficiency of credit control procedures is indicated 

by : 

(a) Debtors Turnover Ratio 
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(b) Bad Debts to Sales Ratio 

(c) Creditors Turnover Ratio 

(d) Fixed Assets Turnover Ratio 

_.k fu;U=.k izfØ;kvksa dh n{krk 
----------------------------

 ls funsZf’kr 

gksrh gSA 

¼v½ nsunkj vkorZ vuqikr 

¼c½ v’kks/; _.k ls foØ; vuqikr 

¼l½ ysunkj vkorZ vuqikr 

¼n½ LFkk;h lEifr vkorZ vuqikr 

10. Which of the following answer-option represents 

maximization of Wealth of shareholders ? 

(a) Sales maximization 

(b) Increase in number of shareholders 

(c) Market price of equity shares 

(d) SENSEX 

fuEufyf[kr esa ls dkSu&lk fodYi va’k/kkjdksa ds /ku dks 

vf/kdre djus dks n’kkZrk gS \ 

¼v½ foØ; dk vf/kdre gksuk 

¼c½ va’k/kkjdksa dh la[;k esa o`f) gksuk 

¼l½ lerk va’kksa dk cktkj esa ewY; 

¼n½ lsalsDl 
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